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HALDANE’S* DILEMMA

Among those who hold to evolution, it is generally believed that a beneficial trait (positive selective value) appearing within the population will eventually dominate the population.   After all, if it gives that specific animal or plant an edge over the others in terms of survival, isn’t it reasonable to assume they will take over.    Details regarding how exactly the beneficial trait is distributed among the population is foggy and of secondary importance since the outcome is fairly certain - the trait will prosper simply because the population survives better with it.    On the surface this is quite convincing because it appeals to one’s commonsense.  Those who are able to adapt (because of this acquired trait) will survive; those that can’t will die off – fairly black and white.   How do you argue with that?  Here’s how:

In a previous article we took evolutionist’s own numbers and calculated one in 300,000 as the odds of a beneficial mutation occurring AND surviving to dominate in the succeeding step.   To offset such a low number the mutation rate had to be increased to an unrealistic high number, which collapsed the whole idea because these rates simply are not measured in the lab.    But let’s forego that obstacle and assume that somehow a “super” beneficial trait occurs and survives.  That being the case, would macroevolution work?   Haldane’s Dilemma says “NO”.  

To understand let’s set the stage by reviewing the tenets of the Neo-Darwinian Theory of Evolution (NDT).    NDT came about because scientific knowledge in genetics during the 1920-1930’s was advancing and exposing discrepancies with Darwin’s classical theory.   Eventually, NDT formulated its own beliefs, which appeared to comply with the expanding genetic knowledge base.  NDT rejected Darwin’s idea that environmental factors affect heritable variation.   NDT held that it is strictly random and found its vehicle in the area of mutations, which had gained visibility and support by the copy errors known to occur in DNA replication.         

But the more science was advancing in such areas as quantifying mutation rates, identifying mutation type, applying statistical methods, measuring reproductive capacities and mapping the genome of man, the more NDT would be squeezed between and rock and a hard place.    On the one hand, the squeeze comes from low mutation rates, even lower rates of beneficial mutations and the low probability of survival.   (Suddenly, even the reported “4.6 billion years” is not long enough for all these mutations to evolve to the present!)  The predictable evolutionary change of direction is “well, if the rates are too small to bring evolution to the present, then rapid-punctuationism or hopeful monsterism will save the day”.   The evolutionary hope is that a “super” beneficial mutation leap frogs several stages of evolution by spreading quickly in the population.   However, the squeeze from the other side is that selective values (the fitness or adaptiveness) of the organism run into an upper limit.   Walter Remine, author of THE BIOTIC MESSAGE, describes the limit:  

“Along the relevant primate line, our supposed pre-human ancestors had an effective generation time of 20 years. (I quote sources and details in my book, so I'll spare you here.)  Imagine ten million years ago -- (that is two to three times the age of the alleged chimp-human split) -- that's enough time for 500,000 generations of our presumed ancestors.

Imagine a population of 100,000 of those organisms quietly evolving their way to humanity.  For easy visualization, I'll have you imagine a scenario that favors rapid evolution.  Imagine evolution happens like this.  Every generation, one male and one female receive a beneficial mutation so advantageous that the 999,998 others die off immediately, and the population is then replenished in one generation by the surviving couple.  Imagine evolution happens like this, generation after generation, for ten million years.  How many beneficial mutations could be substituted at this crashing pace?   One per generation -- or 500,000 nucleotides.  That's 0.014 percent of the genome. (That is a minuscule fraction of the 2 to 3 percent that separates us from chimpanzees). 

That's not a difficult calculation, yet it immediately reveals a problem.  Is 500,000 beneficial nucleotides enough to explain the origin of humanity from some chimp-like ancestor? The problem gets worse.  The scenario favored evolution in wildly unrealistic ways.  I could name several, but one is simple:  There is no possible way for a female primate to produce 100,000 offspring each generation!!!  Here's the lesson:

Evolution requires the substitution of old prevalent traits with new rare traits.  But the substitution rate is limited by the species' reproductive capacity.  If an evolutionary scenario requires an implausibly high level of reproductive capacity, then the scenario is not plausible”.

According to Remine, the famous geneticist J.B.S. Haldane documented this reproduction capacity limit back in the 1950’s.   The jist of it is that the selective value can be increased but at a price – the male/female pair with the beneficial trait are going to have to start cranking out offspring at an incredible rate.    Remine continues:

“Haldane…calculated that the higher vertebrates have only enough reproductive capacity to sustain an average rate of 300 generations per substitution.   Haldane's Dilemma is glaringly plain.  Take the population we discussed above.  In ten million years, it could substitute 1,667 beneficial nucleotides [10 million years / (300 generations/beneficial nucleotide * 20 years/generation].  That is less than 50 millionths of one percent of the genome…Is that enough to explain the origin of upright posture, speech, language, and appreciation of music, to name just a few of our uniquely human capacities?  Is 1,667 beneficial nucleotides enough to make a sapien out of a simian? 

What Haldane is saying, in effect, is that starting from any ape-like or proto human creature ten million years ago and using assumptions which favor evolutionary change in the direction of modern man in more ways than the evolutionists' fairy godmother could imagine, by 1995 you'd be lucky to get to an ape with a slightly shorter tail.”

Conclusion: Even if a “super” beneficial trait occurred 1,667 times in succession over the last 10 million years (what are the odds of that ever happening?), mammals don’t have the ability to reproduce at the rate necessary to maintain the population base.    

* J.B.S Haldane (1892-1964) was one of the founders of population genetics.   His book, The Causes of Evolution (1932), was the first major work of what came to be known as the modern systhesis.  He was Professor of Genetics at London University (1933-37) and Professor of Biometry at University College (1937-57).














































